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HISTORY
( Major )

Paper : 6.3
[ History of Europe (1871-1945) ]

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Ansuwer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence : 1x7=T7 .

TS AT 2P T bt TS 37 @Bt IS A

(a) Who was Alfred Dreyfus?
TR (TG (P SR ?

(b) Who issued the May Laws?
O SEPE (I T IR ?

{c) Who said that he was a Prisoner in the
Vatican’?

@ren ew Fwe  ‘chem | @
Cfee 2
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(2)

(d) Who was Rasputin?
AGHA @ w1fEe ?
fe) Who was Orlando?
TS (I SR 2
() Who was Mustafa Kemal?
TR P (I S ?
(g9 Which country signed the Treaty of
Trianon?
QAR A PR GO TP IR 7

2. Answer the following questions in brief : 2x4=8
fRafife enpryzs oy beg fan

fa) What were the provisions of - the
Republican Constitution of 18757?

Srae 5F STOIEF KR SETR & =ifzed 2

(b) Write a note on the Briand-Kellogg Pact.
ARG pR eoRe «ft Gl for |

(c) Write any two objectives of the League
. of Nations.

wifeeRa R e 151 S fors |

(d) What do you understand by fascism?
¥R et R 3w 2
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(3)

3. Write short notes on (any three) : 5x3=15

5 G foran (R careen o)

fa) General Boulanger

(S QAR

(b) Italian Mafia
ToraR NfE

fc) Wilson’s Fourteen Points

feoa Cougbr #f%bg (T3 3)

(d) Panama Scandal
AN (FCASPIAL

{e) Rome-Berlin-Tokyo Axis
AN-AAfAT-COIfPS MR (T&AST 777)

4. Answer any three of the following questions :
' 10x3=30

ek epprzs R et fofom Tag fran
{a) Discuss the relations between the

Church and the State in the Third
French Republic.

T FAMD! AITSTS TG WF BT &S A TR
SCEATSAT 4 | :
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(4)

(b) Assess Bismarck’s foreign policy.
ReT P T oo R 41 |

(c) Discuss the causes of the Russian
Revolution of 190S.

5003 F5 [T IR ST 4T |

d) What were the causes of the First World
War?

2 TEET FRCAR 6 wifee 2

(e) Account for the failure of the League of
 Nations to secure world peace.

wfee® Ry R oW sRA e 3'2,
SR 4 |

() Discuss the role of USA in the Second
World War.

S Tz WS TEE SR Seema 4 |

% o
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